B3

WA (BE) 201 TR AL WFRBRILER

o . o - . 0 _ BREs | BREl (R | REL 5%
Fes | %5 i A A FEE BERA | FEER F—REFRIE s %) H4, W el
1 20171622 [iET48 |5 A RE TR S| R = Sl 3. 7478 20 4.18%
2 20171673 |ixrhEg (3 P RE LR S| R = Sl 3.6012 32 6. 69%
3 120171691 |BEHEM [F A RE TR S| R = Sl 3. 7382 22 4. 60%
4 20171719 |#xiE 5 i R TR AR T L e T E 3. 8814 7 1. 46%
5 20171807 [xIE%E |3 %t IR TR AR T L e T E 3.827 11 2. 3%
6 [20171826 | HESF [« it |=EeETE ERERK AR TR 3. 1749 125 26. 15%
7 20171871 | Bt S i S D 2 O | R = Sl 3. 7045 24 5. 02%
8 120171899 |4z 5 %t IR TR AR T L e T E 3. 7684 17 3. 56%
9 (20171905 |[fEELE [« Pt |=eTE 8| KA . = S = = 7 e o 3. 8834 6 1. 26%
10 20171909 |51k 5 it ez TR ZREK L e T E 2. 8789 211 44. 14%
11 20172217 |5k4En [3 BE [BETRE BUEsEE) S| R = Sl 3. 7687 48 9.6
12 20172228 | s |3 ha HETE (Hrk) AR T L e T E 3.882 29 5.8

13 [20172241 [ Bk |%& e [BEeETE (EED S| R = Sl 3. 8442 35 7

14 [20172250 |FE#HE | & e [BeETE BiEsEn) 23| KA k. = i = = 7 e o 3. 7359 54 10. 8
15 20172259 |Z=itid 5 ha BETE D AR T L e T E 3. 9442 13 2.6

16 20172282 | % W HeE  [HBETE (EBD 3| KA . = S = = 7 e o 3. 5483 95 18.8
17 (20172323 [& 58k | B BE  |BESs TR S| R = Sl 4. 0037 8 1.6
18 20172348 | B RS |« e FRE RIS S TR | R = Sl 3. 7171 58 11.6
19 20172405 |#E L hE RS 3h ) TAR AR T L e T E 3. 9622 12 2.4
20 120172407 |3 5 ha HETE (Hrk) AR TS L e T E 3. 8834 28 5.6
21 20172432 |Brdbiks |5 BE B ETRE BEsEE) o3| R = Sl 3.9 26 5.2
22 20172448 | ke |3 e B | R = Sl 3. 7286 56 11.2
23 |20172605 |#1Hc |5 BaE BRESE ) TR Gk S| R | = Sl 4. 2843 1 0.2
24 20175722 | RFEE |4 AR [EYIE EREK O |BEE |[EERS 2. 8623 42 47.2
25 (20171224 |#hiEEE | il IR | R = Sl 3. 8949 14 3. 62
26 |20171380 | &k [F PO I e S| KA = Sl 3. 8633 18 4.6
27 [20171410 |¥88FSF |5 AR | S T L e T E 3. 7832 26 6.7
28 20173265 | 52N |B BLBE  [PLBRE 2| R == Sl 3. 185 109 18. 99
29 [20173440 |5KIEHH |5 BLBE  [PLBRE | R = Sl 3. 5581 41 7.14
30 20173441 |i&¥5E |4« BLBE  [HLBRE S| KA = Sl 3. 4608 62 10. 80
31 [20173516 [#AZ 5 BLBE  [HLBRE S| R = Sl 3.5126 50 8.71
32 20173538 |XIFE |« BLBE  [PLBRE 2| R == Sl 3. 9968 4 0. 70
33 [20173561 |#hIESR |5 BLBE  [PLBRE | R = Sl 3. 8248 10 1.74
34 [20173577 |¥ T |5 BLBE  [PLBRE 2| R == Sl 3.6119 31 5. 40
35 [20173589 | RfiE |5 BLBE  [PLBRE | R = Sl 3.237 101 17. 60
36 [20173614 | &K | BLBE  [PLBRE | KA = S = = 7 e o 3. 2441 100 17.42
37 20173639 |iIBEE |5 BLBE  [HLBRE 8| KA . = S = = 7 e o 3. 6968 21 3. 66
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38 [20173754 |3 | & BLBE  [HLBRE RS AR | BCE AR ER 3. 6874 22 3.83

39 [20174343 |BEEHE |5 MlLEg A (MBS AR5 TR 3| KA . = i = = 7 e o 3. 6136 87 17.33
40 20172727 | =R |9 MR |hEe Rl RS AR [ BCE AR R 3. 6203 51 12. 30%
41 20172763 |4k |5 AL BRI R g TR o3| R b = Sl 3.6121 55 13. 20%
42 120172794 |3548 | B Db N VAR 3 RN E ki M S| R = Sl 3. 7052 40 9. 60%
43 (20172920 [#42E | B MAEL (MEEEE T S| R = Sl 3. 5284 80 19. 20%
44 (20172939 [#H15 L AL BRI S TR S| R = Sl 3. 7608 32 7. 70%
45 20173032 |ZkifsiE |5 Db N VR 3 RN E ki M o3| R = Sl 3. 6991 41 9. 90%
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